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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

2.(b)

2.(c)

Wus ‘A’ SECTION “A’
frrafafaa ws IS 1 IR TR 150 =51 H S

Answer the following questions in about 150 words each : 10x5=50

s fiigrers TRt gRT dwa-frafker # @i it Fea-a & i &R
it |

Examine the role of price elasticity of demand in determining the price set by a
discriminating monopolist. 10

A T HEEIY & A= g & aed #, 99 i R g g A F Yfd w56 e
ST |

Explain the backward bending supply curve of labour as a choice between income
and leisure. 10

whifssa wa Fwtia wmfee sedume A y@ famstt $it smen Sy |

Explain the major differences between classical and Keynesian macroeconomics. 10

ﬁ%ar-ﬁm%whmﬁa-uﬁm—aww af B 7 Tt Ry afasmn =
HFR FAT &, g ol o 3§ e 71 Teca & ?

What is meant by internal rate of return in the theory of investment ? What is its
importance in deciding whether to accept investment project ? 10

mﬁgﬁwﬁmﬁ%mwﬁmﬁmﬁﬁ@ﬁw
TR YA AT FT ST AT ST © ?

Explain why it is considered difficult for open market operations to affect both the
availability and cost of credit at the same time. 10

wiifa w1 WA aRA g FO & GATIHR Hied i ATl HIfAY qUl F@H
A-gger & &9 # fd=a Fifg |

Explain the Cournot model of duopoly using reaction functions and interpret it as a
Nash equilibrium. 20

“quf -, A % wed i % @rg s € |7 38 FEE w9 i |

“Perfect competition is incompatible with increasing returns to scale.” Examine the

statement. 15
FTRIFR % T Uy Hied h AT HT N Ty -diAa it e /=t € |
Describe a model of oligopoly that explains price stickiness. 15
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3.(a)

3.(b)

3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

i weans-ufeednr & sata, Trafia d@ifew A Frorad 2 2 17w sha

Hiee & GRT SUYTh HI I AT HIT |
“Under rational expectation hypothesis, systematic monetary policy is ineffective.”
Explain the above statement using a suitable model. 20

IS-LM @ & 3faid Hifge wd oty it it wsmashieran, Ry 6 sm-dm
R fAsR aRdt ® | gHeATT |

In the IS-LM framework, the effectiveness of monetary and fiscal policies depend
on the interest elasticity of investment. Explain. 15

il Hige & SR, SRISMRI-Gged W6 o3 ¥ qg1 1 G- AT 60 40
wEd ® 7 = Hiforg |

How important is speculative demand for money in achieving unemployment
equilibrium in the Keynesian model ? Discuss. 15

PIAH-ge & Hifssh g & desf 3, “wefamssm’ @ s@aro 6t =
HIT |

Explain the concept of “sterilization” in the context of monetary approach to balance
of payments. 20

sharll SR fesranett % wer aR-wR A R off @ F st § fraRa S €
et i |

Tax burden is distributed between buyers and sellers in the ratio of elasticities of
demand and supply. Explain. : 15

Wieid & Her-uaRamr-fagra & gadam B e fifw | 9 fe e #,
wiafssa qgr-afmmr-fagrea # aRaffa 8 sar & 2 vy |

Discuss Friedman’s restatement of Quantity Theory of Money. Under what
conditions, it reduces to classical Quantity Theory of Money ? Explain. 15

qus ‘B’ SECTION ‘B’
Frafafed vds v @1 SR e 150 et & St

Answer the following questions in about 150 words each : 10x5=50

"R AT ISHAT BHER-Ieo ATed A A ® |7 56 AT o gdEr i |

“Factor intensity reversal is incompatible with Heckscher-Ohlin model.” Examine

this statement. 10
ot =t 1 eagE whifoes w4 gar @ ? |9ETsy |
Why depreciation of a currency is inflationary ? Explain. 10
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5.(c)

5.(d)

5.(¢)

6.(a)

wgaﬁz%qaa@u-aﬁﬁqﬁmmwhwﬁuw%ﬁmw%ﬁﬁma
Fedl § 7 AT AT |

Can Kuznet’s hypothesis of an inverted U-curve be extended to analyse
environmental degradation ? Explain. 10

FoETey T e wada. e veR . @ e fowm A T =4
A E |

Explain how modified HDI is an improved measure of development over HDL
10

At Sel ST e WER wateRa dieviEdr WE W § §enE € ?
FaATE |

How renewable energy use can help attain environmental sustainability ? Explain.
10

T X 1 AOR N 1 AT W2 AR | R0 1 W ofd 9 AT we . P=Q+ 70 T

P=170-Q T v& f% 3w 2 # ofif @ AW w A P=10+Q A P=110-Q¥ |

m%ﬁﬁq%ﬁﬁﬁ%ﬁaﬁaws‘}%wmwéﬁﬁm%lwm
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(i) @ AUR $a T g Raed aNd R, Al AEEE o 50 ZhTEAl
arama—ammm%?haﬁx%mqémﬂaﬁwmﬁﬁm
SATAT - A TN Y YA AR, IGH SAcikeh 4T TR AR ATV
Frfog |

(i) AR AT BT & TAT TAA-SAAR HiAd R T XV 10%. Wi 318 &l
mﬁm%a}wmm—mm-aﬁﬁwmﬁm
W R T I | 91 g A i weam # gig Rt € ?

Consider the market for good X for Country 1 and Country 2. The supply and demand

functions for Country 1 are given as P=Q+70 and P= 170 - Q, while that

of Country?2 are given as P=10+Q and P=110-Q. Assume that there are

two countries in the world and trade is balanced. Free trade price is stabilized

in between autarky prices of both the countries. Based on the above information,
answer the following questions :

(i) From the free trade price and zero transportation cost, if the importing
country imposes an import quota of 50 units, determine the quantity of good X
produced and consumed. Calculate the consumer and producer surplus and
protection cost due to import quota.

(i) From the free trade price, assume that the importing country is small and
consider an import tariff of Rs. 10 per unit on good X. Calculate the impact on
consumer surplus, producer surplus and government revenue. Does this policy
increase national welfare ? 20
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6.(b)

6.(c)

7.(a)

7.(b)

y A5

8.(a)

“FaMR 9 ATfashR it gaa wiskar & 99 Ul & 9 W AR TRE B Siar © e
wra Tftmr aur &t qam € 17 e @ Wgo iR |

“A continuous process of innovation and invention would give rise to trade even
between countries with similar factor endowments and tastes.” Examine the
statement. 15

IR =R fagea & a<d 4, e fraeatianEt aar sare fafaya & qea =
wierr hifrg |

Examine the significance of external economies and product variety in the context
of international trade theory. 15

AE-GSit A1 My @ o & sema snfe wa9fy & fake ore € 1 a9f@
FasIia Hafg Aied & WANT @A g SATEAT HINT |

Human capital and components of research and development are determining factors
of economic growth. Explain using appropriate endogenous growth model. 20

QI Hige & e A, fRR-s@e s@yren & e fifsu |

Explain the concept of steady-state in the context of Solow model. 15

ol = &1 @ivm-faga #=1 ® 7 UF §3fg Aied 1 TN 9K §¢ 30 aWasT |

What is the golden rule of capital accumulation ? Explain it using a growth model.
15

e F R-TFdAEvE qaed & fadeT ¥ SO I, g e S9i
(T.21.9.) wa wafaR-wwmEtg Iarg (3.80.9.) # g w=a & T feraen wgeagt
® ? Afc ord waean § dhae AT dEeE o a9 sderee st - arofia
IcTeA & fomg R Tgd T ®, @ St F0 7w fawg W gem 2

How important is rent from extraction of renewable and non-renewable resources
to distinguish between Net Domestic Product (NDP) and Environmentally adjusted
Domestic Product (EDP). Will the distinction be valid if we have an economy
with only renewable resources and the economy reaches the point of maximum
sustainable yield ? 20
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8.(b) “wgfera @ sEqfe wefg-wEifal tE g @ fters @ oafig wE €17
=t iferg |

“Balanced and unbalanced growth strategies are not substitutes but complementary
to each other.” Discuss. 15

8.(c) “Ha-sEwEAT faw &SRO A § o ook T Wi At s@ H fg A @ RV
T FUA H ATArEATCHS GUAG HIT |

“Income inequality is not a cause of concern as long as per capita income is rising.”
Critically examine this statement. 15
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